Apartment in Mosta



Reference No: 240081138-21

Mosta, Central



€346,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 116

Bedrooms: 3

Apartment - For Sale - Mosta

A newly built 3-bedroom apartment in Mosta, available for sale finished, excluding bathrooms and internal doors. The property features an open-plan kitchen, living, and dining area, three bedrooms, including a master with an ensuite, and a main bathroom. Perfect for first-time buyers or as a rental investment. Optional garages are also available.

Features

✓ Lift

Ceramic Floor

En Suite

✓ Water Utility

Balcony

Rooms

Kitchen/Living/Dining: 4 x 7.7 m (30.8 m2)

✓ Double Bedroom : 3.1 x 3.6 m (11.16 m2)

✓ Double Bedroom : 3 x 3.6 m (10.8 m2)

✓ Double Bedroom : 4.2 x 3.6 m (15.12 m2)

Bathroom: 2.1 x 1.7 m (3.57 m2)

✓ Shower Ensuite : 1.8 x 1.8 m (3.24 m2)

✓ Box Room : 1.3 x 3.6 m (4.68 m2)

✓ Open Space : 1.8 x 7 m (12.6 m2)

Gallery





Keith Ciantar RE/MAX Central - Birkirkara

M: 99233127

E: keith@remaxcentral.com.mt

T: 21480165

RE/MAX Central - Birkirkara

Central Real Estate LTD, Triq Dun Karm, Birkirkara, Malta